WISE 3um
/,L 4.1e-03
0.80
s}
(0]
S,
=
§ 2.59-03><
£0.77 o
© =
Q
©
@
O]
© 1.6e-03
1.0e-
0.73 0e-03
6.3e-04
351.18 351,15 351.11
Galactic longitude [ [deg]
MSX 12um
0.81
e}
(0]
S,
=
(0]
ER g
E . 0.14>
Q0
©
@
O]
O]
0.73

WISE 22;m

0.80

s}
(0]
ke
§ 0.07
x
>
=0.77 o
ke =
.Q
©
@
O]
O 0.04
0.03
0.73
0.02
351.18 . 351.15 351.11
Galactic longitude [ [deg]
MSX 14m
0.81
?
5, 0.18
=
S
x
=) [oX
ke =
.Q
©
Q
O]
O]
0.06
0.73 0.02

351.11

0.81

[deg]

o

Galactic latitude b

0.73

0.81

[deg]

o

Galactic latitude b

0.73

. 351.15
Galactic longitude [ [deqg]

MSX 21 um

351.11

Jy/px



